VCE & PDF https://www.passapply.com/i10-002.html|
2024 Latest passapply 110-002 PDF and VCE dumps Download

PassApply.com

110-002954S

XML Master: Professional V2

Pass XML Master 110-002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/i10-002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by XML Master
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 110-002 Dumps | 110-002 Practice Test | 110-002 Exam Questions 1/11


https://www.passapply.com/i10-002.html
https://www.passapply.com/i10-002.html
https://www.passapply.com/i10-002.html

VCE & PDF https://www.passapply.com/i10-002.html|
2024 Latest passapply 110-002 PDF and VCE dumps Download

PassApply.com

QUESTION 1

Which of the following correctly describes the results of normalizing the following XML Document rec element by
Exclusive XML Canonicalization?

[ZML Document]

<arroot ¥mlns:a="uarn:¥mwlmaster:ia's>

<h:rec xmlns:b="urn:=mlmaster:2">
<h:field />

</hirecs

<fairoots

Correct Answer: B

QUESTION 2
Which of the following correctly describes the output results when performing an XSLT tranformation on the following

"XML Document” using the "XSLT Style Sheet" below? Note that the XSLT processor can output transformation results
as a document.
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[EML Docurnent]
<data xml: lang="en":>Tokyo</data>

[E5LT Style Sheet]
<x3al:atylesheet veraion="1.0"
¥mlns:xsl="http://www.wi.ocg/ 1999/ X3L/ Transform™ >
<xal:tewmplate watch="/">
<usliapply-templates select="data" />
</®sl:templater

<¥sl:template match="data">
<x3al:copy>
<xal:apply-templates select="." mode="proceasLang™ />
<wzsl:value-of select="." /=
</x3l:copy:
</wal:templater

<xal:template match="*" mode="proceasLang™>
<xzl:choose:
<xal:when test="[@xml: lang">
<xgl:copy-of select="Bxml: lang" /=
</®sl:vhens
<x3l:otherwize-
<xal:atcribute name="wml:lang">ja-JP</xal:attributex
</wal:ocherwisex
</xal:choosex
</xsl:templatesr
</wmal:acylesheer:

A.

B. Tokyo
C. Tokyo
D. Tokyo

Correct Answer: C

QUESTION 3

Push the Exhibit Button to load the referenced "XML Document".
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[XML Document] (<
<Infinished xmlns="urn:xmlmaster: TNFINISHED ™
<List>
<Morker =mlns='urn:=mlmastcer: MOREERY
Maucs—"J0=LL WoLhiall®/ -
<horivicy xmlns="urn:xmlmaster:VISITY
Code="0002 "=
<DateTime>2004-07-01 13 :00</DateTime>
<Location xxmlns="urn:xmlmaster : CONTLCTM>
<MName>John Smith</Name:>
<Addressr31injuku Ward Tokvo</Lddress:>
</ Locations
<Jokh Proceduse="Install A:r Conditioner”
Time="z"/ >
LAl US S COMPLETED - S S enL WS
< Aotivitys
<horvivicy x¥xmlns="urn:xmlmaster:VISIT®
Code="0003 "=
<DateTime>2004-07-01 16:00</DateTime>
<Location #mlns="urn:xmlmaster : CONTLCTM:
<MName>Een Iiller</Name>
<hddress>3iibuya Ward Tokyo</ Address»
</ Locacions>
<Joh Proceduse="Clean air conditioner™
L1mE=" sy >
<3catusx>MATITING</ Status>
</ Activitys
</ List>
</ Unfinisheds>

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.

[DOM Processing]
Process ZML usiag the folloving method.
prrincXZML{ doec ):
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc ) o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNswe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster :VISITY, "Aotivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: xmlmwaster :VISITY, "DateTime™).item(0) ;
System.out . arint (Mot Visited:™);
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (7 Worker=" 4 name)
node = elem.getElementsbyTaghamels (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (")

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)
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B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document 1" and "XML Document 2," and process XML using
"DOM Processing".

[¥ML Documentl]
<ns:rootl ¥mlns:ns="urn:xmlmaster:EX1M">-

<ns:data ns:info="value">string value</ns:cata>
</ns:rootl>

[ZML Document]
<ns:rooti xmlns:ins="urn:xmlmaster:EZZ"/ >

Select which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents
are not reflected in the results.

[DOM Processing)
Procezs ZML using the following method.

Dozument output = updateXML | docl, doc2 ):
The wvariable docl kere references the Document instance of the loaded "XML Document 17.
The wvariable docZ2 kere references the Document instance of the loaded "XML Document 27,
The DIM parser is rawmespace aware.
Lasumz no exXecutior errors.

publiz static Document updateXML ! Document docl, Documwent dccZ )
SJtring N3 = "urn:xmlmasster:EX1";
Element data = (Element)docl.getElenentsEyTagNamels (NS, "cata™).itcem(0);

Atre info = data.gethttributeNodelN3 (NS, "infa™):

Atte imported = (Attr)doci.importlode (info, ctrues):
docz.gechocumentE lement () .SecitcribuceNodeNs ([ imported ) ;

recurn docs;

Correct Answer: C
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QUESTION 5

Select which of the following correctly describes the results of performing a validation check on "XML Document".
Assume that the XML parser correctly processes the XML Schema schemalLocation attribute.

[ZML Document]
<TestML =*mlns="urn:<mlmaster:cestml™
tnlna:xsi="htep:/www. w3 . org/ 2001/ XMLSchewa—instance ™
x2l:3chemalocatlon="urn: <mlimaster:testml testml.xsd":>
<record lewvel="1" data="100" />
<record lewel="zZ"™ data="z250" /=
</ TestML>

[cestml.xsd]
<x3ischema
Xmlns:xs="http://vww. w3 .org/ 2001/ ZNLSchema
targetMNamespace="urn: xmlmaster:testml™
*xmlns:tns="urn: xmlwaster:testml'>
<x2:import namespace="urn:xmlmaster:cestml”
acheralocation="record. x3d™ />
<wa:element name="TestML" type="tna:testmlType™ />
<xs:icomplexType name="testmlType'>
<HSISEequUEnCe:
<xz:element ref="tns:record" maxOccurs="unbounded" />
</ ¥3:3equencesr
</warcomplexTypesr
</ x=:schemas

[record. xad]
<¥S:schema
¥mlna:s="http: /S uww. wl . org/ 2001/ THLSchema ™
<xa:elewment nawme="record” type="recordType™ />
<xs:complexType name="recordType":
<xa:actribute nawe="level"™ type="xga:intc" Sz
<xz:attribute nawe="data" tcype="xz:int" S

</®z:complexTypes
</ ®3:schemar

A. Valid

B. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" import element

C. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" "

D. No processing error, but is not valid.

Correct Answer: B

QUESTION 6
Which of the following fault codes is defined in SOAP specification 1.1? (Multiple answers possible. Select two.)
A. MustUnderstand

B. RequiredElement
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C. Server
D. SyntaxError

Correct Answer: AC

QUESTION 7

Select the following DOM (Level 2) methods that can add an attribute node (Attr) to an element node (Element).
(Multiple answers possible. Select two.)

A. appendChild

B. hasAttribute

C. setAttribute

D. setAttributeNode

Correct Answer: CD

QUESTION 8

Push the Exhibit Button to load the referenced "testml.xsd".

[testml. xad]
<x3:=chema
xmlns:x¥s="htop://wirw. w3 . org/ 2001/ ZNL3chema™ >
Lusielement name="lestML" Cype="testmllype™ />
<xs:complexType aame="testmlType":-
<X3:Sequences:
<xa:element cef="person”
maxQOccurs="unbounded" />
<f X3 i13equencex
</wa:complexTyper

<ys:element name="person" type="personType" />
<xsicomplexType aame="personType'=>
<¥3 ! SeqUENCE:
<xz:element zef="name" />
<xs:element ef="phone" />
</ ®a 1 sequencer
</®zicomplexTypesr

<xzielement name="hname” type="wg:string” S
<xz:ielement name="phone"” type="xs:scring™ S
</ wsischemar

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document ("testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

- <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
<uziredefine schemalocation="testml.xsd":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>
fxZiextension base="personType">r
<HS: SEQqUENCER
<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x5 schemas

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 9

Select a valid XML Document against the "XML Schema" referenced when the Exhibit Button is pushed.

[EML Schemna]
<x3:3chema
mlns:xs="http://www. w3 . org/ 2001/ EMLSchems ™
cargetMNamespace="Turn: ¥xmlmsster:testml™
*mlns:tns="urn: xmwlnaster i testml">
<xs:element name="TestML":>
<waicowmplexType:
CHI I SeqUEnCE:-
<xa:element ref="tna:scenario™
maxOccurs="unbhounded” /=
</ WS sequence >
</ w3 :complexTypes
<l Em e lemeEnts

<xa:relement hname="acenario™:>
<xsicomplexTypes
<¥3igroup rei="thna:elements™ S
<Ma:attributeGroup ref="tns:attributes" f>
</ ®s:icomplexTypes
</ waelements

LHIiQroup name="elements"x
LH3 I SequUENCE >

<xs:element name="content" type="xs:string"
s
</ wa3equences
</ Hsrgroups>

<¥a:attributesroup name="attributes™>
<xa:attribute name="level” type="is:int™ />
<y3:attribute name="data"™ type="xs:int" />
</ ¥srattributeGroups>
</ :schemas

<x3:ielement name="title™ type="xs:string” fr
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S <TestML =mlns="urn:=nplmaster:testml”-
<acenario lewel="1" data="100">
<titlerPrologue</cicles
<gontent»Long long ago...</contents
</acenariosx
</ TeatML>

™ B <TestML =#mlns="urn:=“rlmaster:testml™:
<acenario level="1" dats="100">
<title mmlns="">Prologue</titlex
<zmontent mmlns="":Long lohg &go...</contents
</ scenarioxr
</ TeatML>

{ C <TestlL =#mlns="urn:=“rlmaster:testml™
Hmins:tns="urn:xmlmaster:testml" >
<gcenario tns:level="1" tns:data="100">
<titlexPrologue</citles
<montentr»Long lony ago...</contents
</ scenariox
</ TestMLx>

S <TestML =zwlns="urn:=nlmaster:testml™
Hmins: tns="urn:xmlmaster: testml" >
<acenario tns: level="1" tns:data="100">
<title xmlns="">Prologue</titlex
<oontent mmins="":Long lohg Ago...</contencs
</ scenariox
</ TestML>

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 10

Push the Exhibit Button to load the referenced "XSLT Style Sheet".
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[ZESLT 3tvle Sheet]
<x3l:stylesheeset wvecsion="1i.0"

xmlns:xsl="http://vww.w3.org/ 1999/ 8L/ Transform"
Xwlns:pre="acctp://schemas. Xmlsoap . org/soaps e
I:'E.-"l"
exclude-resilt-prefies="pre":>

<¥sl:template match="/ | pre:*":
“<xsl:copys
<w=El:apply-templates select="pre:*"/ >
<fual:copy:
</wal:tcemplate:

<x3l:templace macch="pre:Body™>
<x3l:copy—of

gelect="document [ 'sample.xml') "/ >
<fwal:templater
<fxsl:stylesheets

Select which of the following correctly describes the output results of an XSLT transformation of the following "XML
Document” using the "XSLT Style Sheet". Assume that the XSLT processor can load "sample.xml" normally, and output
transformation results as a document. Line feeds and indents are not reflected. Although the expected processing result
is choice "E", processing may not occur as expected.

[ZML Document]

<B30AP-FENV:Envelope =mlns:30AF-ENV="http://=schemas.xml=oap.org/soap/envelope,/ "=
<3DAP-ENV: Body></ 30AP-ENV : Bodys

</ 80AP-ENV:Enve loper

[ample.xml]

<mst:etExambist Xmlns:imsc="urn:xmlmnaster:test >
<mst:titles>XML HASTER</mst:titlex

</mst:GecExanLists

A.
B.
C. XML MASTER
D. XML MASTER
E. XML MASTER

Correct Answer: D
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